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Abstract: In the first part of this paper, a neoclassical framework is
proposed which places the Marxian conceptions of both Constant Capital
and Variable Capital into a Cobb-Douglas production function like
model in order to obtain the mathematical formulations of Marx labour
value function o=5,"c’v'’ and Marx surplus value
function M =spe"c’v'’ as well as Marx production
function v =4 " c“v'"™*, which leads to the Marxian 1st theorem about
technical progress: m = an + (1 —a)w+ pa/ . In the second part, the general
equilibrium properties of the quantitative Marxian productivity theories
are investigated by using variation method. The Marxian 2nd theorem
about dynamic equilibrium asserts, there is a input-output equilibrium
existed in the reproduction process between Two Departments v+ =c * ;
The Marxian 3rd theorem states that only equilibrium growth leads to the
positive value of the productivity parameter which is defined as the
product of the change rate of the organic composite of capital with the
labor output elasticity of Cobb-Douglas production function[ F =1 -a)¢ ],

as well as the rising rate of profit. The present paper is also a



generalization of the precise conditions under which the profit rate rises
or falls. Only when an economic system achieves the Marxian
equilibrium including its each production Department, there would be no
business cycle; otherwise there exists some potential crisis. At last, an
econo-sociological Marxism model is proposed as a criterion for a
regional optimal economic growth.

Key words: transformation problem, roundabout production, Solow
residue, Okishio theorem, competitive equilibrium
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I. Marx Productivity Economics'

Marx's labor theory of value’ pointed out that the value of each
commodity (Q) contained three sources: the first part is “constant capital
(C) ", representing the value transferred from raw materials and
machinery used up, the second part is “variable capital (V)" replacing
the value of the labor power, and the third part is the surplus value (M)
including net profit (P) and taxation (T). Therefore, the total value Q is

expressed as a linear production function:

Q=C+V+M=C+V+p(C+V)=P'(C+V)=P'Cv
M =P+T=p'(C+V)=p'Cv=m'V
Q M m'

Cv =C+V,P'= , pl=—=—
cC+Vv Cv 1+g

'BIRE, FEH. (DRBEFAHLKESS) M], BITTKFEHRIT, 2013.09.
OEE CGEAIE) 1[M]. bR AR, 1975
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Where

C =nK (K: capital, n: capital turnover rate), constant capital;
V =wL (L: labor, w: per-capita wages), variable capital

P': the productivity rate, r'=0 /(c +v) = p'+1i

M.: the surplus value

p": the rate of profit, p'=m (c+Vv)=m /g +1)=P—1

m': the rate of surplus value, m'=M/V

g: the organic composition of capital (OCC): ¢ =c /v =nKk (wL)=nk / w

Differentiating Q with respect to time t yields:

dQ _dP' dCv _dP' C dC  V dV

—_— — —_———
Q P' Cv P’ Cv C Cv V
dQ dar' ac av ac av
= tp—+1-p—=r+f—+0-p—
Qdt P'dt Cdt vdt Cdt Vdt
c \% 1 dar'
ﬂE—:i’l—ﬂz—:—,_E
Cv g +1 Cv g+1 P'at

re-integration gives the Labor Value Function® Q as:

Q=B,e"clv'?’

f: the productivity growth rate, and the cost function

cv=Cc+v=ccCclv'?,

Similarly, differentiates M with time t: v = p'cv = p'(c +V)

dM  dp' dCv  dp' C dC V dV

_— = —

M p' Cv p' Cv C Cv V

dM dp' dc dv dc
=——+f—+01-P—=p+f—+0-p
Mdt p'dt Cdt Vadt Cdt

v dp'
—_—,— =p = f’}/
Vdt  p'dt

After integration, Marx surplus value function® M is obtained as:
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—p PPy P
M =be"C"V ",
p

m':boemg N
' B B
M m
p'=—=—=(1—13)1n'=boept £ =b—
Cv g +1 g +1 g +1

As well as the function of the rate of surplus value m', p is the growth

rate of profit.

Using the similar mathematical process, the Cobb-Douglas

production function’ can be rewritten as:

1

P
Y=V+M=V+p'Cv=p(C+—V)=p'(C+V')=p'Cv'
pV

dy dp'  dCv' dp' Cc dc V' odv! dc
= + = t+——t———=pta—+ (1 —-a)—,
dty p'dt Cv'dt p'd Cv'Cdt Cv'V'dt Cdt V'dt
):2 1 C
Vi=wL , y=—=1+— , 0 =—= £ <Bi-a= r >1-p
p' p' Cv' gty gty

After integration, the production function became:
y = aoepzcav,l—a — aoepzcavl—ayl—a — aoepl(nK )a(j/WL)I_a,
Y=AK ‘L™ = A" K L™

> p=m—adn—(1—)w'=m—an—(—a)w+Y),

p=fy,y=P-p'=f—p

'

m=an+(1—-o)w+[1—(1—a) 1+ p) lp=an+1—c)w+ p

p'tl

Therefore, it’s obvious that the rate of technical change (m) could be

characterized as the linear combination of the growth rate of profit (p’),

the wage(w), and the capital circulation (n) with respect to the labor

output elasticity of C-D production function(1-(). Technological progress

ought to improve the rate of profit, wage rates and cash flow. Technical

change stems from the division of labor, exacerbated by the division of

*Cobb C.W., Douglas P.H. “A Theory of Production”, Amer. Econ. Rev. 1928,8(1), Spp1.139-165.



labor. The rate of technological progress (Solow residue®) is proportional
to the growth rate of profit p (thus productivity growth rate f).

Okishio Theorem’ asserts that if real wages remain unchanged, the
rate of profit necessarily rises in consequence of an cost-saving
technology innovation. Then after transformation, the relationship
between the profit rate and the organic composition of capital can be

obtained:

m—an—(1—-0)w y—og —w ) .. pHl
p= = =(y—ag—w)
(1—a+ay)/y (I—a+ay)/y p'+a

the growth rate of profit is determined by the growth rate of labor
productivity (y) positively only; it seems that Marx was right about that
the rate of profit tends to fall due to the rise of the OCC (g).

Differentiates p’ with t:

E
M m' Y-V y—w w
p:—: = = =
Cv g+l CHV nk+w g+l
dp' d(y/w—=1) d(l+g) y—w . .. . p'+l
p= = - = - Peg=(y—w-ag)
p'dt (y/w—1)dt (Q+g)dt 1—wly p'+a
"+1 1 Y 1—-a ' "+1
jﬁ:p = =—_—, :g’l_ﬂzi,l_az‘v_
a p+a 1—-w/y M 1—-p Y m' m'+1
1 1
an— 1—a) o
p': ( ﬁ)z ﬂ ,P'=p'—|—1=ﬁ( ): 04
B-a 11 B—a 11
a p a p

° Solow RM. Technical Change and the Aggregate Production Function [J]. The Review of Economics and
Statistics, 1957, 39(3): 312
7 Okishio, N. "Technical Change and the Rate of Profit", Kobe Univ. Econ. Review, 7, 1961, pp. 85-99.



. . p'+a
m=0n+(1—-q)w+
p'+1

p <=

. . o
m:an-i-(l—a)w-l-zp

And the following relationships about the equilibrium state are obtained:

. .oa . .
m=0n+(—-—-A)w+—p=0Cn+(1—-q)w+ ﬁ
1_

£
=(1—-o)(——+ — +
( )(l—ﬁ w—n)+n
=(—a)k+(y—k) =

£
—— +w—n=k

1-p
)./*215*-{—](‘*,
F=0—PByk+n—w)=01-pg*

m=n*+1—-0)k*

Therefore, the Marx production function is obtained as:

. . a
a 1-a A fanti=aywrplt a a 1-a ,1-a
nt - 0 — —

Y=Ae K 'L = e K L

0 1-a 0o "o

n, W,
. 1-a P A

—pi — ft
_ a 1-a _ 1- a.,1-a — 0
=aje’ C'V =a,e cC'V “(a,= — )

HO W()
(—a)g*t ~ A, 1—-ad __ Ft a.,l—-a
e c'v =ae CV

Since the above derivation is based on the equilibrium condition, the
symbol “*" is put as a label, and the productivity development parameter
(F) is characterized as:

F=(1-a)g*

Thus , the Solow residue combined with Okishio theorem could be
rewritten as Marxian 1" theorem about technical change, which depends

upon the combination of the growth rates of capital circulating, the wage,
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and the profit rate: m = s +(1—oc)v'v+%p —an+(—a)w+F .

The division of labor by Adam Smith™ can be characterized as the
labor output elasticity (-o)  of the Cobb-Douglas production

Y 2% similarly, the degree of the roundabout

g+y m'+l

function: ¢, =1-a =

production by Allyn Young™ can be characterized as the variable capital

output elasticity (1 — ) of the Marx production function:

1
—1

' 1 1 — _
dR =1—- :1_=L, ¢:1+_= ﬁ az(l ﬁ) ,
I+g m p 1-B « L,
1—a
. d(P'/ p' ) l—a ‘
=#=f—P=f(1—7/)=(1—/3')g[1——ﬂ( )]=g(1—£)<0
(P'/ p")dt (1—ﬂ)OC a

: . d(gtY . . . o o ‘
d, =y~— gry —y__8 6 — 4 y = g (y_g)za(»)/_g):_ﬁg

(g Tyt g+y gty gty
: d(+ . . .
dp =— re) == g=—Pg=d,

1+ g)adt 1+ g

N . g . . . .
d=g- 8~ z V= ! (g=Y)=¥Y=p,

gty gty gty
: . g . .
P=g———sg=0-Prg=r

g +1

EPI a 1-a ﬁp[ 1—_o(ﬁ
Y :Aoe ﬁC|‘—//3 :ineﬁ ga*ﬁ:_oelfﬂ gafﬁ r=(1-P) g
c+Vv aOC \4 Cv a, a,
- | . s Gy Gy
Y—CV=(1—O()g+(OC—ﬁ)g=(1—ﬂ)g:f o N ‘V V o= .v ‘
cC -V M -V

Schumpeterian innovation" function/degree can be characterized by <
g

WH-HEE, BAH TUEE BRVENMRMNRENHRZM]. b= BS0HE, 1972

’ Young AA. Increasing Returns and Economic Progress [J]. The Economic Journal, 1928, 38: 527-42.

" Schumpeter, J.A. 7he theory of economic development: an inquiry info profits, capital, credit, interest, and the
business cycltranslated from the German by Redvers Opie (1961) New York: OUP



since ==L and the labor division coefficient 4, has the same change
g

rate as the degree of the roundabout production ., :

t — —p)t ﬁ .
s=L1Z¢_QV_ Boe'e™ _Be!” AR
g a McC be"g’ b, g b,
S:'}/—g'__ﬁg'*:_mv
a
11
Y —_ =
/Y +CY -M (vy+oyic o e,y 12 1
=2C = ¢ V¢ _c o Sl —+>—
M /V C M (Y-vy/v. Y _, 1 c Y Vv
1% v Y
S =Q —-M'—g =y 4V —-cC'—Mm
os —-c”
—=—<0,
ocC 1 1
1%
oS 1 1 11, 5
— ==+ HN—=—7) DV >0,
ov. ¢ v vV Y
0s v
L. 225
dy M M
All the equations are:
LTV : Q=C+V+M =C +Y =Bye"'c'v'"F =p e PclyF,
MPF :Y=M+V=ae" CV" =a, """ cV"™ ap=PF =ayf,p>F >
l_ifj.:-*.
STV : M =be”c’viF=pes cPv”
CostFun .:Cv =C+V =¢, "V g +1=c,g”
Productivi ty : P'=Q/Cv = Byc, e = Bye, e’ "
EH l_i}fj._;*l.
SuplusValu — eRate . m'=M [V =be” g” =be® g" =bje” g°

"
')
! g’

. _ m o
Profit Rate . p'=M/Cv=——=m'(1— ,f)') =bje’ ——
g +1 gTl

II. Transformation Problem



If there is no currency inflation, and the values of commodities keep
invariant, then we have:
C+V=Cv=N=const.,
dN=0=dCv=d(C+V),
dC=dV=0

Total value (C+V) equal total production price (P.C+P.V):

dN =d(P ,C +P,V) =CdP , +P dC +P,dV +VdP , =CdP , +VdP ,
=Cv[ Bdp, +(1—pB)dp,]=Cv[ Bor, +(1— B)op,]

=Cv[ fIn(1+06P, )+ (1—P)In(1+06P,)] =Cv[ flnP, +(1—)InP,]
=cvin( PP Py=0=

plr =1 plp =1

PP +(1—P)P, =0, 0r :

Boép, +(1—pHop, =0

let (I denotes the inflation index and

OP = PPl —1,6P, :=CPl —1
oP CPI —1

R T ,

Op, —OP, CPI — PPI

Q'=C+V+M'=PC + PV +PM =B(P1C)ﬁ(PZV)1_ﬁ :Qplﬁpzl—ﬂ =0
M'= P}M :b(PIC)ﬂ(PZV)I*ﬂ :Mplﬂpzlfﬂ :M,P3 —1.
PC + PV =C+V;

M'=Q'—(P.C+P,V)=PM =M =r(C+V)=r'(P,C+P,V)

Total profit equals total surplus values.

For a Marxian two production departments system:

(1+r)PC, +PV,)=Q'=P(C,+C,)=PC,
(14+r,)XPC,+P,V,)=0Q,'=P,V+M,
_PC,—V, M M__M 140V,

r=r, =r = =

b PC,+V., PC+PV C+V v C,—rC,
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Or a three production departments system described by J. Winternitz'':

(1): P,C,+P,V,+ P,M, =(P,C,+P,V,)(1+ p')=P.C =P(C, +C, +C,)
(2): PC,+P,V,+P,M, =(P,C, +P,V,) 1+ p')=P,V=P,(V,+V, +V,)
(3): PC,+P,V,+P,M,=(PC,+P,V)1+p)=PM=M=M +M,+M,
MM (Ep)V, PV Py cv

= — R N ,P: .
PC+PV Cv c,+c,—pc, c PC +V T PC +V

~ P . . .
PP P =1 omp, =mi+fn ?2,,613l +(1=PB)P, =I,0r: B, +(1—B)6P, =bI

1

P [an
p ==Ll=

P pa— .
pl=———— 2" spP—pBi1-p
P,

prm’p n s

l.cﬁm'ﬁ =l+ﬁln P+ +___=1+}5’(p -1

. ¥ 1B
(a)—y =e —1—y=—+4+— y=3(f-D=h P, P=c ",
2 2 6
i _?ys ,V_? _V3 —3 %
(b)ﬁy'-l-ﬁ =4 y= =>p=c",
2 6 2 6 1+ p
2 3 ER 2 E g e -puiep-pra g
\}5’ R /8} }5’} oy v 3 ﬁ._(f A=pyis =2y
c)—y + + =—+4+—=PFP=c
2 6 24 2 6
13 P 2 R ' —ag+fytiny2 e B2 B°
B By By vy vy B P
)=y + + =2 4+ +Z _=>p=¢
2 6 24 2 6 24
_—-’(1_1"5) 2 2
T 242+ B+2p” N2+ P2
& p =t (cos +isin 3, e

1+ p+p° 1+ p+p°

d [ d O p Gmr d
t V*a‘%eé d Pmes%f ¢otlition tothe 'é(g-calibd"cr@sfcbméﬁdﬁ prablenf) EeoR. Jour. 1948, 58, 276-280.
d d d

X

¢ —1
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In(

5
|
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Taking into consideration of the prices, the change rate of OCC would

be:
P,C : -
g, =——=Pg =>g,=P+g
P,V
f;_dP:dlnPd,B_+ 6 B_+6/3(1—ﬂ) . (1+6/3( ﬁ)

P d Bdt __«/6ﬁ—2 1/6ﬁ—2 1/6[3—2

III. General Equilibrium

In Das Kapital, Marx"” defined the reproduction schemes as abstract,
two-sector models of the production and circulation of capital.
Department one produces means of production, the value of its
output(Q.) is made up of ¢, +v +m, =0, ; where C.is the constant capital
and V. the variable capital used up in production, M, is the surplus value
produced. Department two produces means of consumption and the value
of its output(Q.) is likewise made up of c,+v,+m,=0, . Simple
reproduction requires that capitalists in Department two acquire means of

production to the value C, from Department one in order to be able to

P OEE CGEAIE) 1[M]. bR ARHARIE, 1975.



produce again, namely : c¢,=v +m, =v, , therefor---the Marxian 1"

theorem: c, = v, ; Then, Marx’s theory about crisis is:

Namely, if an economic system achieves the Marxian equilibrium

including its each production Department (v =v =c, =v, =c, = ), there

1

would be no business cycle; otherwise there exists some potential crisis:
E ._7..7dﬁf7.7ﬁi‘i.
ﬁji_ﬁ_ﬁ'dr B br f=d,=
pr=Cr—Pirfr=pa-pa—2pi’ =—pE 5 o por
1+g)
Ve —le

1+ g

W=

epf-11-Pe

= ﬁ; = Ay sin( i) + B cos( (wrt) = ,BU sin( wr + 0),

2 2 Aﬁ
B, = Ay + By <1,0 = arctg

Bﬁ
2T et 27{( L2 )>4\/57r
= = g - = B .
g g1 4 Ve 1 g
. df, i . Nep-na-pBe
ﬁr: = = f :(lfﬁ“)g:
Bdt e (wt+0) g (@t + 0)

= g (w+0) = dﬁ_ =g —1,sin( wr+ = \/ —! _\jzﬁﬂ_l



I,J!: ﬁ — 1 -~
1 1 1 1
a B 1-p 1—-«u
. o' . . dad’ . o . : .
d=p=—=p=d= 7(,‘(=—*p=5+ﬁ+g.
(¢4 o' de ap

=S av=(p —E t1-Pepa=—B-1)SPe’a=—2f-nya-Psa=—wa,
a

w=Jep-nspi=iJep-nya-p =wy
=Sa, =d,sn( @+ <P,y =+|A, + B, <1, 9 = arcig Ay
B

27T 27T 4\/;?1
= T=- = - > —
iJep-nsp  iJep-nya-p iy

Yy' - dy’’ . . .
—, Y= —Y,Y"=(Y+Y)Y'=0

Yy Y' dt

Y =
S Y+Y=0=>Y=-V=—C

Y'=(Y = C)Y'=—YY(C —Y)

=y = A, sin( @0) + B, cos( @), © =+/¥(C —Y);
or LY'=(C—Y)Y. 0=+ (¥ =)

Moreover,

Q =C,+V,+M, =C, +Y,=C,+C,=cC
Q,=C,+V,+M,=C,+Y,=Y,+Y =Y

0=0,+0,=C+Y Q0 =CC+YW & (-0 =(f-a)C+(1-B)Y

according to Leontief’s input-output theory'”' and the steady state
analysis of the CD production function"”, there should be a dynamic
input-output equilibrium between Department I (input: C) and
Department II (output: Y=V+M)

" ss Y

yP =k " =0 v =kT +L7 +0” =¥ =07 ;

" Wassily Leontief.Conference on Research in Income and Wealth, 1955. "Input-Output Analysis: An
Appraisal," NBER Books, National Bureau of Economic Research, Inc, number 2864.
"* Solow R.M. A Contribution to the Theory of Economic Growth [J]. The Quarterly Journal of Economics, 1956,

(1), 65-94



(1-a)g*t _a-1
g

Y/C =b,e Y—C=(—)g*Ha—1)g=1—-0)g*—g)

0/c =B, o —c=a-Prat(B-ner=0-Pré*—o)

VRS Y= Or e g = g

Marxian 2™ theorem about reproducibility states: there is a dynamic
input-output equilibrium inside an economic system. The regression
analysis of the USA manufacture industry data™ from 1958-1996

supported the above results:

2 | o .
Fig.1: Reg. Anal. of Y&Q vs.C
s oBon
1 dinY/dt =0.9795 dInC/dt
R =0.8002
.
5 i A A
_ p dinQ/dt = 0.9892 dinC/dt
0 % R =0.9459
-5
=4 =2 Q 2 4 [ o] 1 1 1 1

The Marxian 3" theorem about productivity development asserts: only
Marxian equilibrium leads to productivity development and a rising

profit rate.

F=Y—-aC—(1—-a)V=(1—-0)s*>0<Y=C,g*>0;

F=0—-BC—(1-BV=(1-L)g*>0<>Q=C,g*>0

*Coo* = = = s = =—, =C —-—C :Q—C
£ 1—-5 1—ﬁﬂ g+1 Cvﬁ ' '
Q=C+V+M=Cv+M

M (M —Q .
Q—Cv= ( Q)=p'(—J/)>0

Cv

g*zg'z_f_i>0

1— 1-p

" NBER-CES Manufacturing Industry Database [EB/OL].(2011-02-02)[2012-10-11]. www.nber.org.



By

1—-a ,.
p=——Pg*= =Y S0 F >0 £>0
(04
IV. Marxian Optimal Growth
The tendency of the rate of profit depends on the OCC(g) and the
output elasticity of the constant capital((), similar to the conclusion

obtained by D.H. Dickinson"’:

B B
pr=pe” S —pE
g +1 g +1
Op' _p' g
—=—(f-—)20
ag g g +1
& >i
g +1
az ' '
lz=— zp <0
Og g (g+1)

1— b 1
P =BT =BT = (Bo00rnyb > p, 2;([3=;)

By means of variation, Marx was right about the falling rate of the

profit under the competitive equilibrium situation:

—al; ,
M b epfcﬁvl—ﬁ boc(l a)agtcﬁvl—ﬁ bo g(lfa)iz
" — — _0 — — 4
p=""= - B, 1P - )
Cv cC+V a,Cc"v a,
ap' —ﬁg't p'l—-a ..
—=p—— (- =———fit
Og ag g
d Op' d Pt pl—a )
— () =—lp—U-a)=———Pfwp +1-12)
dt ag' dt ag g a
= pt =—1<0
=>p'=p, ¢
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if i(6—‘0) =L ﬁtS) =2 SBp +14 S+ fr—ig) = sBer =

Og' dt g g g

. . . 1_
p+St+Pt=—1=tp +St+ ft =(

a . .
ﬁ—gﬂ -Pre=ta-2pe =

gt = >0 f>—;
2B -1 2
or
1-a . s
pt=—ﬂgt=—ﬁ=L>O<:>g>l<:>C>V
a 2B-1 g-1

.'I\(f " 2 rj_'._:-" f 4 -—.-. - dL L' 1 _(X
;n'z—:;-aoe"g’jzaoei @ gf =g, .gz—“r =& 5=
Vv odt z (o4
1—a o'
Om' —FTri-a (e g ; 1—-a g'
=ajze " ] ,3( ): rg’j-i-ﬁg’“]:m'ﬁ(l— —I)——,[)'(l—?rrf)
Og o g g a g
1— g'
Om' — P 1—a .t 51— - M m'
=age” ¢ ﬁ—);’jzm'ﬁr —,[)' —r—,[i —f
dg' a g g «
m' 1 - ! ] ! 1—d ] . .
d 0 M Mt v vl
W:—(—)=p (—:——C+—)=ﬁ —(Mt—Ct+1)
d&t Og' a C C- C o C
m' M 1—-d . . : .
=—=—p@a- gty > Mi—Ct+1= — gt
Og C o 1—o
v 04 R R _;6 . R e S 1
om't= 1=5 l==—St=—gt<0 = m'=m'} ( O < —
1—o a 2
d Om m' : . . M 1—a . _
(2): =BS—[(f+S+m—g)+11=— fa— g = fi=8"—
d&t Og' g C o
, 3(s7 —1 1 1 : 1
:>m'r—£;_ '6( ):( ——)L<0<:>(;{<—
o a-pPa 1-a a1-p 2

Moreover, the rate of variable capital accumulation will increase under

equilibrium state :
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b b
v=—"o" cs

BD
A
oV z' g
- =—(£—1)“—,rv=(1 E)“—W
Og (o4 g a g
d ov Jé; B VooV v tg
— () =—[V(——1)—1=( nyVv-——mgt—-V—)=
de og' dt g g gu g g
: . . =g 1 1 1-—- g+ g+ 1
VI=£g(— =m't—12>0 - > -— 'BC} ]f_ ]/>—

a 1-a o I y g g
Sl >Ny > =g >A2 x1.414 >1,

1
1-fp= <W2 —-1%0.414 .20 >) [ >0.586 ;
1+g

. 14++J4g  +1—2¢
A +Qeg-1NA—g >0 = (f>a> >0.5

2

A maximum production would achieve under equilibrium state together

with a minimum input requirement under equilibrium state:
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V. The econo-sociological Marxism

The first-rate reaction of natural decomposition of some Persistent
Organic Pollutants is: ¢ =c,* , k: reaction rate, C: concentration of
certain POPs ; the economic growth could be related to the amount of the

POPs’as: my=a+bmcC,

" Private communication with Prof. QQ WANG (Chem. Coll., Xiamen Univ.)
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a, b are both positive coefficients ; therefore, the total change of the POPs

is:

- d[(n Y—a)/b] dinY Y
c= — k= —k=——k

dt bdt b
The environment couldn’t be worse meaning the amount of POPs

wouldn’t increase:

. v .
CL0&E —< k< Y<bk <k(if :b<1)
b

namely, the growth rate of GDP should not be over a critic value.

VI. Conclusion
In short, this study is aimed to obtain a quantitative description of
Marxian capital theory including Marx labour value function and Marx

surplus value function as well as Marx production function. The labor



output elasticity (1 —« ) of Cobb-Douglas production function is defined
as the parameter for the division of labor. The productivity parameter in
Marx production function is defined as the product of the change rate of
the organic composite of capital with the coefficient of the division of
labor. Furthermore, three Marxian theorems are proposed, which assert
that there is a dynamic equilibrium existed in reproduction between the
Two Departments, only equilibrium growth leads to the positive value of
the productivity parameter (Productivity Development Theorem) and
also the rate of profit, of which the change rate combined that of the
wage and capital circulating with respect to the capital output elasticity
of Cobb-Douglas production function characterizes the technological
progress rate or as called the Solow residue. By means of variation, the
tendency of the profit rate to fall is proved under the situation that the

degree of the labor division remains unchanged.
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